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a—F | fih k| PER (kg) & (M) =il i #E PE (BAL)
Y3002 =#H (&H) 162 540 540 540 | B Okg
Y3015 |7 &V E 108 11 11 11BN 1036
31800 X NAE 28 9, 202 86 86 32| B 1393K
31900 ¥ 9 1,593 216 216 54 | BN 9kg
36800 Hox 1) 4 2,592 648 648 648 | B 4kg
34400 | b~ h 52 13,997 270 270 259 | B 52kg
35220 | X M BT 702 432 108 108 | B 3kg
35300 | B°— 2 1,944 1, 080 1,080  1,080| &M 2kg
35303 A F v TEZAED 14 1,436 108 108 65| &M 14kg
Y3026 (Afy7  EZAE D (F) 3 972 324 324 324 BN " 3kg
Y3115 |EX AL D 0 5 54 54 54 BN Okg
35400 | ZHEDH 3 302 108 108 108 | BP9 '3kg
35402 | LAXED 17 11, 232 756 756 486 | BN 17kg
36200 EHE 20 1,188 65 65 54 | BN 20kg
36260 2L w7z 150 14, 580 1,080 1, 080 756 | BN 1547 — A
36600 7-EFhX 50 8, 100 162 162 162 | BN 50kg
36340 | LNREE 15 4, 050 270 270 270 | B 15kg
46108 | S I DMEE 85 87, 631 356 324 216 | B 2848 7
71011 'R/ L —35 57,510 65 65 38| BA 9504
21070 7Y —T7F 5, 962 17 12 121 BN 4204
71150 LiE 324 32 32 32| B 1038
71160 #FR (W) 1,058 27 27 11| B 5678 v b
53456 | 7Rk 6 1,944 324 324 324 | BN 6kg
53462 [ Hox x O 1 486 540 540 540 | BN lkg
Y5004 {4 50 21, 600 432 432 432 | BN 50kg
Y5010 obRE (F) 12 5, 681 540 540 378 | B 12kg
30100 722 A B 160 4,212 324 324 108 | VR B 1648
30200 A L 24 864 11 11 11 | BEIRE 804
30300 A% L 120 11,772 1,188 1,188 648 | B 124 — A
30400 ZIEH L 10 1, 620 1,620 1, 620 1, 620 | = iFF 17—
31100 H3¥ M 105 6, 696 1,080 864 864 | £ IRy Thr—2
33500 YT HE L 2 454 22 22 16 | 15 [ 2448
33810 HEFE 4 1,296 1,296 1,296 1,296 | FEIR B 11—
33810 HHEX 4 1, 296 65 65 65 FEVLE 204
31700 Fp 230 7,139 324 324 238 |EIR B 234%
31800 1E9 L AE 8 4,266 119 119 86 B 408
31950 HAE L 15 3, 456 756 648 648 | B 5r—2
31900 A ¥ 13 2,916 216 108 108 | R B 253K (500g)
32800 ZH 3 1,512 54 54 43 | E I 303
34300 79 2L 50 14, 893 1,836 1,436 1, 350 | REA 107 —A
34400 k= kb M 12 6, 480 2,160 2,160 2, 160 | HEA 34—
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b HE RIS £H
a— K Mg Eitk | BER (kg) %8 (F) il g ol PE (BAL)
34400 | k= b B S 24 4,104 756 648 648 | REA 64 — A
34460 I =L F L M 2 2,074 173 173 173 | ERE 128y 7
34100 | #K 55 13,932|  1,404| 1,296 1,080 | &l Tr—=
34100 &/ 18 3, 650 108 108 54 |5 I 4548
34100 [#AK L 30 9, 504 1, 944 1,404 1,404 |ERE 64— A
34100 &AL B 15 864 432 216 216 |EIRE RE
34200 /K 20 1, 080 54 54 54 |BEIRE  20kg
34200 |FJIK 20 3, 888 1,944 1,944 1,944 | =a—Y— 2/ —2R
A
34200 )N 19| 1,339 76 76 65| == —3— 19kg
| 7R .
34500 B—< 36 14, 742 81 81 81 | B 1824%
34500 | B—=< 6 2, 268 76 76 76 | i@ 3048
34571 (XA VA (FR) 1 648 108 108 108 | 4% [E 6fH
34572 7Y H () 1 648 108 108 108 | #&[E] 6fF
36600 7-FHE 80 11, 232 2,916 2,916 2,700 | db¥EE 47—
37200 L g 59 2L 4 1, 296 1,296 1,296 1,296 | H[E 17—
33420 (Y —2 V=T LHR 6 324 11 11 11\ ERE 301@
132900 BV — 1 162 162 162 162 | t& A BN
33600 Y 1 97 32 32 32 &k RELS
133300 | Tuyal— 11 2,581 86 59 59|7 AU B 38fA
38100 AL Wi 12 5, 643 59 38 38 | B 1208y 7
31310 | AT 4 1,512 76 76 76 | 1@ [ 12048
31500 [/hka3E 16 4,752 65 65 43 | 15 ¥ 8048
32500 | AT 1 648 65 65 65 | 1@ [ 103K
137560 | BEIE 1 2, 538 270 270 238 | K4y 108y 7
138400 (X DEHE 10 3,132 32 32 30 | Rl 110048
38521 SR LHLE 3 1, 944 65 65 65 | & 1304%
42000 W AT 324 324 324 324 | F &% 1 —=
Y4022 H oY aF 30 9,072 5, 400 5, 400 1,188 | ER 34—
46000 \W\WH T M 6 2,635 162 162 108 |REA 20,8y 7
49100 /SFF 192 24,181 3, 888 1,199 1,080 74 UEY 16 —2R
aat 1,917 454, 047




